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HE 397
TR A T

DP ¢ 150mm DP=1.3m

EHEER DIP ¢ 150 FEARIEN 1.620 m
SRR 005 m BEE 1.280 m R+
BIFO 0.150 m B 019 m @B
AR 0.169 m BAE 015 m  FEEE
FHE S RHIE 1.00 m AS 0.05 m
PRHI R 108.00 108.00
SRR T
t=5cm 108.00 2 + .00 X 108 = 324.0
EfiE R EUE T
As t=10cmPL 108.00 1.00 = 108.0
P Ak A T 1.00 1.620 - 0.169 2
7 = 4 ) X 108.00 = 172.5
WERT (41 1.00 1.280 - 0.169 2
7 = 4 ) X 108.00 = 135.8
A T4 +) Skt
172.50 135.80 =+ 0.9 = 21.6
¥ Ly T.(AS)
108.00 0.05 = 5.4
T E AT
FAYIARA t=19cm 108.00 1.00 = 108.0
RC-40
LT
BARIFRET t=15cm 108.00 1.00 = 108.0
RM-40
F=ET
HABRET 27 t=5cm 108.00 1.00 = 108.0
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DP ¢ 150mm DP=1.3m

TR B DIP ¢ 150 FEAMRIEY.  1.480 m
SRR 019 m FeEE 0.800 m B+
BIFO 0.150 m B 038 m  FEBRm®E
AR 0.169 m BAE 030 m  FEEE
FHE S RHIE 1.00 m AS 0.19 m
PRHI R 12.00 12.00
SRR T
t=15cm~30cm 12.00 2 + .00 X 12 = 36.0
EfiE R EUE T
As t=15cm~40cm 12.00 1.00 = 12.0
P Ak A T 1.00 1.480 - 0.169 2
7 = 4 ) X 12.00 = 17.5
WRT (&E1) 1.00 0.800 - 0.169 2
7 = 4 ) X 12.00 = 9.3
A T4 +) Skt
17.50 0.00 =+ 0.9 = 17.5
¥ Ly T.(AS)
12.00 0.19 = 2.3
TR (4)8)
FAEYIAREA t=38cm 12.00 1.00 = 12.0
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BT (3E)
HAERRE A t=30cm 12.00 1.00 = 12.0
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Hfg T
OB AR EE Y A2 t=Tem 12.00 1.00 = 12.0
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OB AR EE Y A2 t=Tem 36.00 0.00 = 0.0
PK—4
F=ET
YO A RIEE Y A2 t=5em 12.00 2.00 = 24.0
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DP ¢ 150mm DP=1.3m

B ERE DIP ¢ 150 FEbdmE 1.640 m
HEWE 003 m BE 1540 m B+
BIFO 0.150 m Bz 010 m AR
AR 0.169 m
FHE S RS 1.00 m AS 0.03 m
PRHI R 16.00 16.00
SRR T
t=15cm~30cm 16.00 2 + .00 X 8 = 40.0
EfiE R EUE T
As t=10cmPL 16.00 1.00 = 16.0
P Ak A T 1.00 1.640 - 0.169 2
7 = 4 ) X 16.00 = 25.9
WRT (&E1) 1.00 1.540 - 0.169 2
7 = 4 ) X 16.00 = 24.3
A T4 +) Skt
25.90 0.00 =+ 0.9 = 25.9
¥ Ly T.(AS)
16.00 0.03 = 0.5
TrR¥ET (1)
FAYIAREA t=10cm 16.00 1.00 = 16.0
RC-40
F=ET
HABRET 272 t=3cm 16.00 1.00 = 16.0

PK—3




Al

I3
R

\



EREMBRE

A K ¢ 150mm
woE L B 1% B | H 7
A= Hh Nk F L ¢ 150 100.0 i
136 m

B xr ¥ — b T




R



" Ok B M OB &

TR
IR~ i A TOLURMT | RS U
frrav7>-4
EEE
A KH ¢ 150 136.0 97 1 2
&t 3%
R D% gy i —h T
A -KIE ¢ 150 100 136.0
136.0




T A0 AR ¢ 1 4 & = T 1 £ P

DIP ¢ 150mm
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G & GX ¢ 150mm =t

i H T R 136

MoR R 136 136.0

# G A 136.0 136.0 |
3B

2%/50m



TEMESR

TB# g MBIERH(ER) | BTERMmM) | RAREHFA) |ZXEMERF) HEE EEW e
@© | ZPAERELE | H=20m 68 136 42,120 25,440 67,560 0.395
&t 136.0 42,120 25,440 67,560 0.395
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W=0.333m H=2.000m

t =0.040m

R Lt

W=0.115m H=2.000m

t =0.080m
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L=1.000m- (0.040m+0.080m) x2=0.760m




T A7 7 VNI K E R E

W | G omy | | | W%
3cm 0.078 40.0 0.0312
4cm 0.104 0.0000
Scm 0.130 324.0 0.4212
6cm 0.152 0.0000
Tcm 0.174 0.0000
10cm 0.240 0.0000
Ilcm 0.262 0.0000
15cm 0.350 0.0000
19cm 0.438 36.0 0.1576
20cm 0.460 0.0000
25cm 0.570 0.0000
26cm 0.592 0.0000
30cm 0.680 0.0000

G 400.0 0.6100
o) 0.61




